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Commerce

Paper II
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gyutrent 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt A/l questions.
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U Sed. @E U Wred.

[Maximum Marks : 100

1

Which of the Government’s policy in

respect of public expenditure and
revenue has a significant impact on

business ?

(A) Monetary policy

(B) Fiscal policy

(C) Trade policy

(D) Foreign exchange policy
SEZ stands for .................. .

(A) Special European Zone

(B) Special Export Zone

(C) Special Environmental Zone

(D) Special Economic Zone

T Terdeh] hITTCAT TR ENom=n

eI @4 () 9 HeYd s
AR A&I0E  (HEwrar) gRend
gl

(A) =ERfTTEF SR
(B) TSThISE &R0l

(C) =MR 4R

(D) fosht fafma R

SEZ & swmeR woRy .
(A) fodm A &

(B) fadrw ffa &

(C) forto wAfeRvita &

(D) s efefs &
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Which one of the following is not a
level of strategies applicable to

multiunit business ?

(A) Corporate strategy

(B) SBU level strategy

(C) Functional level strategy
(D) Divisional level strategy

Which one of the following is not a
powerful environmental force the

business is confronted with ?
(A) Consumer movement
(B) Environmentalism

(C) Changing competitive

environment
(D) Increasing population

MSMEs contribute about .................
of India’s GDP.

(A) 8%
(B) 19%
(C) 35%

(D) 40%
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EATAdeh] IVl FELaTl AgHh

FEHEE AN SV AT ?

(A) HIA FHTE

(B) SIRTEATCH SHoR HeehT=al WIeRId]

(C) HMicHs WA Hgla

(D) fawrfa wla =R

EATeTdehT IVl S<eh/ T SHSHETl
e ?
(A) TEF TBID

(B) YataRuEE

(C) decdAd TufcHsh THa0l

(D) dedl AREEA

TH. 9. TH. 3. YRAre st €. 9. =
(Gross Domestic Product—eisies T
B_Cq-]aq) ................... gaa")k 3:“%..

(A) 8%
(B) 19%
(C) 35%
(D) 40%




As per which accounting convention
‘contingent liability’ is shown by way
of a footnote below the Balance

Sheet ?

(A) Convention of conservatism

(B) Convention of full disclosure

(C) Convention of materiality

(D) Convention of consistency

A company paid T 50,000 for a
purchase of copyright for five years.
The process of writing off this
cost over a period of five years is

called ................ .

(A) Depreciation

(B) Amortization

(C) Deferred Revenue Expenditure

(D) Depletion

JAN - 50218/I1—A

AN AN L N
Wldlctien] enlVICd] HendlgHIK dloodig]=-]

Qe TR QUM deadqHed qifaett

Sard ?

(A) TEIfgaar dehd

(B) Ul Uehelehiul Hehd
(C) 9Ras® Hehd
(D) Had Hehd

TehT YA T 50,000 T IME IEETS!

@ §9% ©Ral hal. 8 IR 9=

IO I D T SR Iishad

(A) =ET

(B) 9HYHTONG A1d TR0l

(C) voifad wegel @

(D) |™E (%)
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Long term solvency is indicated

by e .

(A) Current Ratio

(B) Debt/Equity Ratio

(C) Net Profit Ratio

(D) Turnover Ratio

Which of the following is not an
assumption of Break-Even

Analysis ?

(A) Total fixed cost does not change

(B) Total variable cost does not

change

(C) General price level does not

change

(D) Product mix does not change

JAN - 50218/I1—A

o0 [aV [aV LY [aV ¥
Qlefenlctli dicddl Cllctictiehl onlYlcd]

ORI SRiforel! S ?
(A) =] TR
(B) hsl/TaHE ORI

(C) fT=es ®1 TR

(D) 3cirered !!UilﬂI

WAt RV TEde  SHfaeeA

fog=a Jushivd e oRa S

L

(A) T feer ufera agea Rl

(B) THY sodl Uedd sgad 8l

(C) |HNY fohAd e siceld AR

(D) a&] fasr sgea A




10.

11.

The difference between standard
cost of standard hours and standard
cost of actual hours is called

aS i .

(A) Labour rate variance

(B) Labour cost variance

(C) Labour efficiency variance

(D) Labour mix variance

In normal conditions, the demand

curve for a commodity :

(A) slopes upwards from left to

right

(B) slopes downwards from left to

right

(C) is horizontal, parallel to X-axis

(D) is vertical, parallel to Y-axis
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10. THTUR QR YHI0TeR Ueaa ST Hoel

qrETel YHIO URed Al e

(A) oHeX fa=ro

(B) 9| uRemg fa=mon

(C) oM wrdemyar foa=ro

(D) &9 Tagror fa=xo

11. FeamMra gRferdiaes, s Anmoi-

(A) STelhed, ISelhe <ad Sl

(B) STelehed, 3ITelche IaXd SIdl

(C) 3mear ‘&’ ST&feT HHIGR STl

(D) 391 ‘T’ A&l THIAR STHAl
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12. Ifthe demand for a product responds

13.

more than proportionate to the

change in its price, it is a :

(A) Perfectly inelastic demand

(B) Perfectly elastic demand

(C) Unitary elastic demand

(D) Highly elastic demand

Which of the following is not

a feature of monopolistic

competition ?

(A) Homogenous product

(B) Large number of sellers

(C) Selling costs

(D) Product differentiation
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12. SR TE@mRN S "rml, fa=n feadide

13.

ISATAT T FSATAT FHTOMURT  Afereh

JiHE 3d 3TE@ T ST ATl
(A) g STeteia HRTON Tl
(B) UUf Terh HFTON TEUT AgA
(C) THe* Ta=eh OO TEUl A

(D) HAo=ieh ATTON UMl I

TTATadeh! I FRIGRIgE  Tqe

Ifyreg @ 2

(A) THISTTE =]

(B) fashcar=it AISt T&

(C) Tt ==

(D) ax 9%




14. The law of variable proportions of

15.

16.

production is applicable in :
(A) Long period

(B) Market period

(C) Short period

(D) Very long period

With increasing level of output the
Average Variable Cost (AVC) of a

firm :

(A) Initially falls, then continues to
rise

(B) Remain unchanged

(C) Goes on continuously falling

(D) Goes on continuously rising

Why is random sampling preferred ?

(A) It is easy to draw

(B) The results will be statistically

valid

(C) It is a popular method

(D) It is free from errors
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14. ST SEE THTET o8 Wrefietden!

15.

16.

HIUAT FHIAEE AT B 2
(A) drefnrs

(B) SISIR <hrerreret

(C) 3T

(D) 3T

SCEATAT STEc Tdesiaiier, ST

qUEd seddr @9 (AVC)

(A) FEAE Tl 9 Fa A ared
St

(B) sEed A8l

(C) 9| Hed STl

(D) 9™ 9@ STl

g e T € 1 79d sheflt o ?

(A) @ Hdt Ugd SR

(B) fredl gEEmTEta gftehnT

Y 3T
(C) & TH dARTE Ygd AR
(D) < §e FRICAT SIS o STd
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17.

18.

19.

Which of the following is not an

‘absolute measure of dispersion’ ?
(A) Range

(B) Standard deviation

(C) Mean deviation

(D) Coefficient of variation

The empirical formula used to know

mode iS ....cc.......... .

(A) Mean — 2 Median
(B) 2 Mean — 3 Median
(C) 3 Median — 2 Mean
(D) 3 Median + 2 Mean

Which of the following is a

parameter ?

(A) Sample mean
(B) Population mean
(C) Size of sample

(D) Size of population

17.

18.

19.

JAN - 50218/11—A
AT 10 WA § T shefes A
& ?
(A) e (o)
(B) wHT fer=e
(C) formrer Aex

(D) fo=ror TUmeR

JgoTeh ShIGUAT STHEST o
TH.

(A) HET — 2 HETH
(B) 2 W& — 3 weA
(C) 3 ¥ — 2 HY

D) 3 7Fx% + 2 A

qEIcTdeh! hIvIdT o Jr=ral (Parameter)
AqE ?

(A) 9T 74

(B) HAW! 7

(C) AT &R (¥ §eA)

(D) IS AR (T 9E&)
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20. Suppose an unbiased coin is tossed.

Event A : Getting head.
Event B : Getting tail.

Which of the following statements

is true ?

(A) The events A and B are

independent

(B) The events A and B are

mutually exclusive

(C) The events A and B are
independent and mutually

exclusive
(D) The events A and B are neither
independent nor mutually

exclusive
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20. THST THAIA A0 SSfael 3TR.

el A : ©19 THBuI.

g B : e fHesul.
qElcTueh! IV faeme @ sTg 7

(A) 5T (A) 377 521 (B) =1 facst
e

(B) 1 (A) 3701 521 (B) 31 WERA S
e

(C) T (A) 3701 52 (B) =4 fRaetsi

a9T TEESd 3Ted

(D) = (A) 27for s (B) faetsi
ARG qHE qELEtsd g0 AR

21. Tactic is a component of .............. | 21, SgETEA w Ueh 3R
(A) Planning (A) TrsH
(B) Organising (B) d&reA
(C) Directing (C) fAevm
(D) Co-ordinating (D) v =T
11 [P.T.O.



22.

23.

24.

The concept of committee comes

within the scope of ............... .
(A) Directing

(B) Organising

(C) Controlling

(D) Planning

Which one of the following is not

Fayol’s principle of management ?
(A) Unity of Command

(B) Unity of Direction

(C) Authority and Responsibility
(D) Management by Exception
Find the odd one out :

The components of planning are :
(A) Objective

(B) Procedure

(C) Decentralisation of authority

(D) Budget

22.

23.

24.
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PSP —
Id.

(A) Treem

(B) E&A

(OREREL

(D) fsH

@Ak ShI0dT 9aiT 81 Hhald g

HIEAITY axd AT ?

(A) SARYMEN Uehareal (TshicHar)

(B) TAdemm=it Wehamear (TehTcHar)

(C) AfTPR & SaEgR

(D) S{UETEH SHeEATIH

ETcAteTdeh! foaemTa (Tt S T13@n/E M ;@

(C) Afeehrra fashsiert

(D) SASTSI=h
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25.

26.

Motivation is a part of ................ .

(A) Communication

(B) Direction

(C) Organization

(D) Plan

Which of the following statements

is true ?

(A) Marketing and selling are inter-

changeable terms

(B) Marketing and selling are not

inter-changeable terms

(C) Selling is a broader term which

includes marketing

(D) Advertising includes selling and

marketing

26.
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(D) A ()

WATAUsh! hivd faam a3 ?

(A) fogour stfor farsht = gEmTel Heheum

3Teq

(B) fomur emfor fasht = gammelt deheum

B

(C) forshl &t =TIk HehodHl ST ML

foquAmn FHEY Bl

(D) wfewdged fagt smfor fagomEmn

THEY gt

13
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27.

28.

Product-oriented concept believes

is the key to success.

Offer of better and modified

products

(B) Fulfilling expectations of

customers

(C) Focussing on drawbacks of

competing products

(D)

Manufacturing products on
large scale

Product Life Cycle (PLC) includes
such as

mainly four stages

Introduction, Growth, Maturity

and .......ccoueenee... .

(A) Prosperity

(B) Decline

(C) Depression

(D) Inflation

28.
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(A) Ifas IFTe 9 guika @&ar=n

o] IUT HEA Q0!

(B) TMgehTeAT 39N YUl 0!

(C) TaEfeh IR HAWAR AL hisd

HLO

(D) HISa YHIUIG S 3AGT hu]

ESESIERCEIR I I e C IS )

HHEE Bdl- eard, foaemd, TevmeaEen

(A) SRS
(B) STadl
(C) ¥t

(D) st
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29.

30.

In the buying decision process,

is the first step.

(A) Information search

(B) Purchase decision

(C) Evaluation of alternatives

(D) Need recognition

Relationship marketing refers to

maintaining relations with

to achieve the marketing purpose.

(A) Employees

(B) Dealers

(C) Customers

(D) Suppliers

30.

JAN - 50218/I1—A
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31. The initial cash outlay of a project

is ¥ 2,00,000 and it can generate
cash inflow of ¥ 80,000, ¥ 60,000,
¥ 1,00,000 and % 40,000 in the year
2013, 2014, 2015 and 2016
respectively. Assume 10% rate of
discount. Calculate the net present
value of cash inflow. Time value of

money of T 1 @ 10% discount

factor :
Year DF Value
1 909
2 .826
3 751
4 .683
(A) 1.1240
(B) 1.1235
(C) 1.335

(D) 1.634

JAN - 50218/I1—A

31. TH Yehoqrel YRHEN fofda Jeves

3 2 ARG 3. M= e STAYdE Teeh
FHERE! Z 80,000, T 60,000, T 1,00,000

9 ¥ 40,000 3141 2013, 2014, 2015 9

2016 HIAHIS 3TTHH 3Ted. 10% HE=

W TR gEA @ STAIERE (@

G Jod hiel. 1 T Fiel o

10% 90 X Seayd o

L DF qcd
1 909
2 826
3 751
4 683

(A) 1.1240

(B) 1.1235

(C) 1.335

(D) 1.634




32.

33.

34.

Which of the following items is not
considered while determining the

working capital ?

(A) Inventory

(B) Trade Receivables
(C) Cash at bank

(D) Software

Which of the following is Dividend
Policy Model ?

(A) Gordon’s model

(B) Schumpeter model
(C) Ricardian model
(D) Miles-Ezzell’s model

The concept of cost of capital can also

be explained in terms of ............... .
(A) Direct cost
(B) Fixed cost
(C) Total cost

(D) Opportunity cost

32.

33.

34.
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(el

Qodd e i

RO TSH ALTT Sde S ATer 2

=d hLAMT CTeiteTdeh]

(A) HIeT 9131

(B) =mardt Avft

(C) dehdial U@ ERA
(D) WiFeER

WTCACTUhT SRIUT CATHTET SR0T STEeT AT
e ?

(A) TiEw HAfed

(B) Y Hied

(C) Terem area

(D) HEH-g3ied HigH

read IeTd & 9

TEI IO T HId A
(A) Ja& 9T

(B) feer ufter=

(C) TR 4=

(D) weft ufteT
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35.

36.

37.

Which is not the example of current
liabilities ?

(A) Advance from customers

(B) Contingent liabilities

(C) Bank overdraft

(D) Provident fund dues

Which one of the following is not a

labour legislation ?

(A) Factories Act

(B) Competition Act

(C) Payment of Wages Act

(D) Industrial Disputes Act
Theory Y’ was developed by ............ .
(A) Fiedler

(B) Vroom

(C) McGregor

(D) Herzberg

35.

36.

37.
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LN N WL NN o N NN
Llcletienl enlVld HAnlHen QHd™ SqleYl

& 2

(A) TEHFRST S Heslclel! ERRA
(B) SThf&s® 00
(C) s aAfefersh

(D) wfesy frafg feft <oft

WTATAUh] ShIOTdT SHTATTR ShIe] ATer 2

(A) @M HEC

(B) =¥l el

(C) IdTeT AT

(D) SiENfih e HEal
(A) ®IEeR

(B) a&H

(C) HRIR

(D) BStert
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38.

39.

40.

Induction is a function of .............. i

Human Resource Management.
(A) Performance Appraisal

(B) Selection

(C) Placement

(D) Recruitment

Which of the following does not
directly affect wage and salary

structures ?

(A) Ability to pay

(B) Labour supply and demand
(C) Union demands

(D) Regional backwardness

Employee welfare does not exactly

depend on :

(A) Conditions of Work

Environment
(B) Employees’ Health Services
(C) Employees’ Education

(D) Organisational Culture

38.

39.

40.

JAN - 50218/IT—A
Yl T FoRTIHE W0 §

o0
Kl

(A) SEIR HIHIA
(B) fere

(C) wiEHe

(D) SHTETR el

WeAteTden! M Ia9 (wages) 9 TR
(salary) T (3NES) TIER &2 IROM

B ATE ?
(A) 3QT (SUIT=A) HIOATET &HAT

(B) IR GL&el & HETU
(C) HeeT=a1 R
(D) WIS HITHATON

(A) & gafeom=T gffeerdt
(B) wHEAMEl AT He
(C) wy=r=ara famemm

(D) TERATHS F&hd!
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41.

42.

The lending rates of commercial

banks are usually :

(A) Not affected by Bank rate

(B) Not related to Bank rate

(C) Lower than Bank rate

(D) Higher than Bank rate

Banks which operate through single

office and generally confined to

limited area of town or city are

called :

(A) Central Banks

(B) Urban Banks

(C) Unit Banks

(D) Metro Banks

JAN - 50218/I1—A

41. YR SlhT= hofieiiel TSI HeeaRu-

o .

(A) S T gHIfed B el

(B) Soh <URN Tafad T9dl

(C) ook TUET HHT THl

(D) s SUULT W& 3Tl

492, 1 SR HIHHRTS TehT= I ST

TRl Ten fRen YRR FAElfed sTd

(A) HEHEAT Sl UM

(B) 380 T U

(C) Thdd ookl U

(D) "R Sehl TEUMAM
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43.

44.

45.

When money is lent or borrowed for

one day or on overnight basis it is

known as :

(A) Term Money
(B) Call Money
(C) Notice Money
(D) Near Money

Who was the first Indian Governor

of RBI ?

(A) C. D. Deshmukh

(B) Bengal Rama Rau

(C) R. K. Shanmukham Chetty
(D) K. G. Ambegaonkar

Along with Central and State
Governments the paid up capital of

RRB is shared by :
(A) RBI

(B) Sponsoring Bank
(C) NABARD

(D) SBI

43.

44.

45.
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ST et Ten! feaamrst ferar waht Tiaral

N A &
Adatl stlalad oAl ¢

(A) Ted U1 U
(B) OTTON <F Y& wEUIAT

(C) ga1 T wuram

(D) 99 T\ U

fgd o offw sfeam wfeqt wRd™
TR

(A) . 2. ImE

(B) & T TS =

(C) oM. . IvgE =gl BN

(D) . <. STETEH B

%y d T R IR faumia
TTHIT Skl (RRBs) =1 IS aATd Shivm=
el STEA ?

(A) 3R. . 21

(B) IX&hdl Wk
(C) Tere

(D) TH. S 3.
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46.

47.

48.

GATT which was replaced by WTO

was :
(A) An organisation
(B) An agreement
(C) A policy

(D) A conference

Which of the following is not the
item of current account of balance

of payment ?

(A) Import of services
(B) Interest payments
(C) Export of goods

(D) External borrowings

India’s share in global merchandise

trade in 2015 was :
(A) 2.00%
(B) 2.50%
(C) 3.00%

(D) 1.60%

46.

47.

48.

JAN - 50218/I1—A

STl 9 U SFTfqeh SR T]
(WTO) ¥ et @ e weiieriest
HE BT ?

(A) T HEq
(B) TH R
(C) TH HRm
(D) ThH R

TTEeAteh! hival T8RS

R A=Al (BOP) =Te] ©Iedr= 1T
THdr ?

(A) FaM= A
(B) A= <Ol
(C) a&g=r Fam

(D) dmed et

s 2015 A& WRAMET SIFTAeh 9%
Bar ?

o [a

[ehdl

SRS feea |referden]
(A) 2.00%
(B) 2.50%
(C) 3.00%

(D) 1.60%
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49.

50.

The Asian Development Bank (ADB)

attempts to promote economic

co-operation and growth of the

countries in :

(A) Asia and Far East

(B) South East Asia

(C) South and West Asia

(D) South and Central Asia

The direction of Indian exports has

shifted in recent period towards :

(A) Asia

(B) North America

(C) Europe

(D) Africa

49.

50.
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ETetAdeh] v faammdia Semged
afedsh TWehE 9 gol WHEET TIS

AfyEA faswm s (ADB) &%

(A) enfern a stfagd

(B) <faqu 9o swferen

(C) <faor 9 ufy=m shfyrn

(D) T 9 g AP

o __cn

BRINE]

fem

ITATh S =T Shicald WA

T IV SRS desatel g

IJq ?
(A) sTfsT=n
(B) SR 3R

(C) T

(D) AR
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